A 4 & X B

Chuyén d6i phan tram thanh phan s6

%

%

%

%

%

%

%

%

%

%

Ngay thang:
71
S )
100 /o
86
R 0
40 /o
0 o
5 ()
L %
40 °
30 _ .
100 °
39
? = %
90
g 0
40 /o
72
R 0
50 /o
73
? = %
92
S )
100 /o

www.snowmath.com

Piém:



https://www.snowmath.com

AE&RD

Chuyén d6i phan tram thanh phan s6

Tén:

49

— =98¢
50 /o
13

- = 0
20 65%
87

% = 435%
83

o5 = 415%
43

- = o
100 437
51

20 = 255%
28

= o
100 28%
4

?7 = 940%
15

— =30°
50 /o
95

20 =237.5%

71
— 0
00 17
86 _ 215%
40 °
6
? — 520%
: =2.5%
40 “77°
30
— 0
T
89
? - 1780%
90
7= = 9950
40 o
72
2 = 1440
50 /0
73
? = 1460%
22 oo,
100 7

www.snowmath.com

Ngay thang:

Piém:



https://www.snowmath.com

